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3-4 000000000 29

3-4-1 00000000 29
3-4-2 00000000 29
3-4-3 00000000000 29
3-5 000000000 30
4 000000 31
4100000000 - 31
4-1-1 000000 ___ 31
4-1-2 00000 35
42000000000 __ 36
4-2-1 000000 ___ 36
422 00000 39
4300000000 40
4-3-1 000000 ____ 40
4-3-2 00000 43
4-4 000000000 _ 44
4-4-1 000000 ___ 44
4-4-2 00000 47
4500000000 _ 48
4-5-1 0000000000000 _ . 48
4-5-2 0000000000 48
sUbbooouoodooooouoouooood 49
5100000000 49
5-1-1 000000 ___ . 49
51200000 __ 55
52000000000 ____ 56
52-1 000000 ___ . 56
52-2 00000 __ 61
5300000000 ____ 62
53-1000000 ___ . 62
53200000 __ 66
54000000000 ____ 67
54-1 000000 ___ . 67
54200000 __ 7
6 dooooodoooooooonon 72
6-1 00000000 ___ 72
6-1-1 000000 ___ 72
6-1-2 00000 __ 78
62000000000 ____ 79
6-2-1 000000 ___ . 79
62-2 00000 __ 84
6300000000 ____ 85
6-3-1 000000 ___ . 85
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6-5-1 0000000000000 95
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goooo

100400

1-1 0000

goooo todao H=2.300m

1-2 0000
0ooo

1-3 000000
000000000000000 vye = 24.50 kNP
0(@O0)000000000000 ys = 18.60 kN/mf
0(@O0)000000000000 ye = 19.60 N/
0000000000000000 vy« = 9.80 kN/mf

1-4 00

O0000000000000000 o« = 24.0 N/mw?
0000o0o0o0o0ooo00o0n e O= 2.50 x 10° N/mw
o0o000oo0obOo0obocobOo0n kO= 0.20
ob0000bo00O0o0b0ob0o0n0 k" O=  0.28
gbooobdooobdood Oe 30°

ooooooooooooboOo p = 0.58
O00000o0o0o0oooooOooo ¢ U= 0.00 kN/m?
1-5 00004d
goan oo oo oo aoo
gooooooan O sa N/mm? 160.0 300.0
goooooooooobogoo O ca N/mm? 8.0 12.0
gbooooobooooooan Ta N/mm? 0.39 0.58

ubooobodoooodood Odn O=15
1-6 OO0

O0000000000000000 g U= 3.43 kN/m?
00000000000000 OOg O=  3.43 kN/m?

1-7 0000

0000000000 - 0000000000000 Y3 oooooooo
0000000000 - 0000000000000 23 00000000
0oo0oo0ooo0o0ooD - 0000k =1500@ 000000000 1.200)
ooooooooono - o000k =1.200

O0000ooO00oOOo @ 300.0 kN/m

0000000000 @ 450.0 kN/m
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1-10 0DO000

1-10-1 O0O0O0ooOooo

gboobodooobodobooobdaooobaod

a.un
o0oo000o0o0000o0 o.400m 0000 2.000m O000O0O0O00OO0OODOOO

b.0ODOOODOO
gbooobooboobooobooboobooodaooood

oooo
No oooo
q(kN/m?)
1 3.43 Oooooooooooood

1-10-2 000000004

uboooboobooooboooobooooodan

a.un
oO0o0000o0000o0 o.400m 0000 1.400 m OOOOOOOOOOODOO

b.0DOOOODOO
gbooobooboobooobooboobooodooood

0ooo
N 0oon
© q(kN/T2)

1 3.43 gbOoooobooooooan




1-10-3 000000ooo

gbooobodooobodobooobdaooobaod

a.tn
gboooboobooooabodaod

b.0ODOOODOO
gbooobooboobooobooooboboodaogoood

oooo
No oooo
q(kN/m?)
1 3.43 Oooooooooooood

1-10-4 000000000

uboooboobooooboooobooooodan

a.un
gboooboobooooabodaod

b.0OOOODOO
gbooobooboobooobooooboboodaogoood

0ooo
N 0oon
© q(kN/T2)

1 3.43 gbOoooobooooooan




20000000000000
gooobodobooood mooobaod
gbooobodboooobgoooboooaboooabgooanbaoo

2-1 00000000
2-1-1 OO000000000
Oo0ooooo0oooo00oooooooooo0ooooW, yWwobhooooooooooooooooo

a.ggood

gboooooogoo

0000000 y =24.50 kN/m* OO Wi=y OVi
0o opooogd oo opDgo 00000 (kNDm)
Vi(m®) Wi (kN) xi(m) yi(m) WiX; Willyi
1 | 0.500x 1.900 = 0.950 23.28 0.250 1.350 5.82 31.43
2 3.000x 0.400 = 1.200 29.40 1.500 | 0.200 | 44.10 5.88
> ad 2.150 52.68 49.92 37.31
gogo
x=XWOx) /7 ZWi = 49.92 / 52.68 = 0.948 m
y=2ZWOy) /W= 37.31/ 52.68 = 0.708 m
b.0ODOOOOO
1
opooooooooooo
0o opooog oDgo 00000 (kNOm)
Vi(m®) xi(m) yi(m) VillXi Villyi
1 2.500x 1.900 = 4.750| 1.750 1.350 8.31 6.41
> ad 4.750 8.31 6.41
gogo
x=XMOx) /7 ZVi= 8.31/ 4.75= 1.750 m
y=2ZMOyi) /7 ZVi= 6.41/ 4.75= 1.350 m




c.ubooobooooood
0oO0o00m0b2.000 m

uboooodoboooodgoooodn

0o goooo gooo 00000 (kNOm)
Vi(m®) xi(m) yi(m) VilXi Villyi
1 2.500x 1.600 = 4.000 | 1.750 1.200 7.00 4.80
z a 4.000 7.00 4.80
aooo
x=2XMOx) / ZVi= 7.00 / 4.00 = 1.750 m
y=XVi0Oy) / ZVi= 480/ 4.00= 1.200 m

d.000000000

booobooboboooboooobuooobuooobdaooooan

Va=Vi - V2
xa = (ViOxa - VeOx2) / Vs
ya = (ViOy: - VoOy2) / Vs
oood

Vi, V2, Vs -

O0ooooooooooooooog ()

x,X,xs 1 0000000000 O0000CO000 (m

gooobodaod

Y1,Y2,Ys -

goooooodn

od oooo
V() x(m) y(m)
oooo 4.750 1.750 1.350
oooo 4.000 1.750 1.200
oooo 0.750 1.750 2.150
e.0000O0O
O0Ox0O0 =00 oooo | ooooo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 52.68 0.948 49.94
o000 oooo 0.750x 18.60 = 13.95 1.750 24.41
o000 oooo 4.000x 19.60 = 78.40 1.750 137.20
oooo O 0.00 0.000 0.00
oooo O 145.03 211.55
oooo
x=ZXWOx) /W= 211.55/ 145.03 = 1.459 m




2-1-2 000000
a.un
gooood
o000 H = 2.000 m
0000 Pr=1/20yWOH? =1/ 2x 9.80x 2.000° = 19.60 kN
0000 yp=H /3= 2.000/3= 0.667m

gooood
o000 H = 0.400 m
0000 Pe=1/20yW0H =1/ 2x 9.80x 0.400° = 0.78 kN
0000 ya2=H /3= 0.400 /3= 0.133m

b.0DDO
000000000 pe=yuWdH = 9.80x 0.400 = 3.92 kN/mt
000000000 p=yWdH = 9.80x 2.000 = 19.60 kN/nt

0oo
U= 1/20 (p: + p)OB = 1/2x (3.92 + 19.60)x 3.000 = 35.28 kN
00000000

(= P+t20p B _ 3.92 +2x19.60  3.000
T p+p — 3 3.92+19.60 3

=1.833m



2-1-3 00
gooobodoooooabdaod

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf

gooboooooboog e = 30.0°
ooopoooooogoog B = 0.0 °
0oooooooooooo & = 30.0°

2
K = cos’(p -a )

sin(o +d )sin(o -B )

cos'a cos(a +8 )[1+ | cos(a +8 ycos(a By ¥

= 0.297
goooooooo Ha = 0.300 m
goooooooo Ho = 2.000 m

gooooooooo
pr = qOK = 3.43x 0.297 = 1.02 kN/m?
goooooo
pe = KOy sOHa + pr = 0.297x 18.60x 0.300 + 1.02 = 2.68 kN/m
gooooooooo
pp=KOW ¢t -y wOH + p
= 0.297x (19.60 - 9.80)x 2.000 + 2.68 = 8.50 kN/n?

0ooooo0oo
Pr=1/20(p + p)OH = 1 /7 2x (1.02 + 2.68)x 0.300 = 0.56 kN
00000000
Po=1/20(:+ p)OH = 1 /7 2x (2.68 + 8.50)x 2.000 = 11.18 kN
0oo

P =P+ P.=0.56+11.18 = 11.74 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + 6 ) = 11.74x cos(0.0 + 30.0) = 10.17 kN
oooo

P, = POsin(a + 6 ) = 11.74x sin(0.0 + 30.0) = 5.87 kN
oooo

M= P (2Rt Pty o 1 19 kT

P+ p2 3
_ 20p2 + ps — Hy _
M = P00 ( o+ ps O 3) = 9.24 kNOm
Ho = Mo+ M _ 1.10 + 9.24 _ 0.888 m

P + P 0.56 + 11.18
X = X - HOtana = 3.000 - 0.888x tan(0.0° ) = 3.000 m
Yy =VYe+ H =0.000 + 0.888 = 0.838 m

EEEEEEEREN

5.87 kN

e 10.17 kN




2-1-4 000000
gbooobodobooooobgoooboooabaod

0o oo oo oooad 00000 (kNOm)

Vi () Hi (kN) Xi(m) yi(m) VilXi Hilyi

oo/0000o00 145.03 -— 1.459 -— 211.60 -—
oooad -— 19.60 -— 0.667 -— 13.07
oooad -— -0.78 -— 0.133 -— -0.10

oo -35.28 -— 1.833 -— -64.67 -—

ogoooooa 0.00 -— 0.000 -— 0.00 -—
oo 5.87 10.17 3.000 0.888 17.61 9.03
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 115.62 28.99 164.54 22.00

2-1-5 0000000000
000000V = 115.62 kN
OOO0OOOOH = 28.99 kN
OD00000M= Y (Vilx) - ¥ (Hidys) = 164.54 - 22.00 = 142.54 KNOm

2-1-6 00000000000
000000V =V = 115.62 kN
O000O00H =H= 28.99 kN
0O00000M = (VOB /7 2) - M
000000 = (115.62x 3.00 / 2) - 142.54 = 30.89 kNOm



2-2 000000000
2-2-1 0000000000

a.ggood
gbooobodbooobodobooobdaooobaod

b.00ODOOODOO
gboooboobooboooboooobooodogoood

c.ubooobooooood
000001.400 m

uboooodoboooodgoooodn

0o goooo gooo 00000 (kNOm)
Vi(m®) xi(m) yi(m) VilXi Villyi
1 2.500x 1.000 = 2.500 | 1.750 0.900 4.38 2.25
z a 2.500 4.38 2.25
aooo
x=2XMOx) 7/ ZVi= 4.38 / 2.50 = 1.750 m
y=XViOy) / ZVi= 2.25/ 2.50 = 0.900 m

d.000oOoooood
obooboobobooobooooboboooboboooboboooboo
Vs=Vi - V2
xs = (Vildxe - VeOx) / Vs
ya = (ViOy: - VeOy2) / Vs
gogo
Vi,Ve,Vs - 000000000000O0O0O0O0O0O0O ()

xi,%x 1 000000000000000000 (m)
yLy2,ys 1 00000000

goooooodn

00 0000
V() x(m) y(m)
0000 4.750 1.750 1.350
0000 2.500 1.750 0.900
0000 2.250 1.750 1.850




e.Joogn

O0Ox0O0 =00 oooo | ooooo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 52.68 0.948 49.94
o000 oooo 2.250x 18.60 = 41.85 1.750 73.24
o000 oooo 2.500x 19.60 = 49.00 1.750 85.75
oooo O 0.00 0.000 0.00
oooo O 143.53 208.93
oooo
x=ZWOx) /W = 208.93 / 143.53 = 1.456 m
O0x00 =000 oooo | ooooo
WkN)O Kn H(kN) y(m) HOy (KNOm)
od 52.680x 0.20 = 10.54 0.708 7.46
0000 oooo 41.850x 0.20 =  8.37 1.850 15.48
0000 oooo 49.000x 0.20 = 9.80 0.900 8.82
oooo 0.000x 0.20 =  0.00 0.000 0.00
oooo O 28.71 31.76
oooo
y=XHOyi) / ZH = 31.76/ 28.71= 1.106 m




2-2-2 000000
a.un
gooood
o000 H = 1.400 m
0000 Pr=1/20yW0H?=1/2x 9.80x 1.400° = 9.60 kN
0000 yp=H /3= 1.400 /3 = 0.467 m

gooood
o000 H = 0.400 m
0000 Pe=1/20yW0H =1/ 2x 9.80x 0.400° = 0.78 kN
0000 ya2=H /3= 0.400 /3= 0.133m

b.0DDO
000000000 pe=yuWdH = 9.80x 0.400 = 3.92 kN/mt
000000000 p=yWdH = 9.80x 1.400 = 13.72 kN/m?

0oo
U= 1/20 (p: + p)OB = 1/2x (3.92 + 13.72)x 3.000 = 26.46 kN
00000000

(- Pt20p B _ 3.92+2x13.72  3.000
T ptp 37 3.92+13.72 3

=1.778 m



2-2-3 00
uboooodoooodooooodn

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & 15.0 °
0000000000006 = tan'OKs = 11.310 °

cos’(@ -6 -a)

sin(o +6 )sin(p -B -6)
cosB cos’a cos(a +6 +d )[1+ cos(a +8 +5 )cos(a B )

= 0.452
0000(-B-6)<0000sin(e-p-6)=0000

0000000000006 "= tan'UKe" = 15.642 °

cos’(@ -6 "-a )

]2

K™ =

. . sin(e +5 )sin(p -B -6 *)
cos® "cosa cos(a +0 "+0 )[1+ cos(a +8 "+5 )cos(a -B )

= 0.538
0000(@-B-6")<0000sin(@-B-6") =0000

goooooodn Ha
gboooooodn Ho

0.900 m
1.400 m

gooooooooo

pr = qOK = 3.43x 0.452 = 1.55 kN/m?
gooooooon

pz = KOy sOHa + pr = 0.452x 18.60x 0.900 + 1.55 = 9.12 kN/n?
gooooooon

ps = K*O(q + y sOH) = 0.538x (3.43 + 18.60x 0.900) = 10.85 KN/n?
gooooooooo

pe =K'O( ¢t -y wOH + ps

= 0.538x (19.60 - 9.80)x 1.400 + 10.85 = 18.23 kN/n?

0ooooo0oo

Pr=1/20(n + p)OH = 1 /7 2x (1.55 + 9.12)x 0.900 = 4.80 kN
00000000

Po=1/20(m + p)OH = 1 7 2x (10.85 + 18.23)x 1.400 = 20.36 kN
0oo

P =Pi+P=4.80 + 20.36 = 25.16 kN

]2



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + 0 ) = 25.16x cos(0.0 + 15.0) = 24.30 kN
oooo

P, = POsin(a + 6 ) = 25.16x sin(0.0 + 15.0) = 6.51 kN
oooo

M= P (2EPt ety - g a7 kNam

P+ p2 3
Mo = PO (%‘%@D ) = 13.05 kNOm
Ho = Mo+ Mo _ 8.37 + 13.05 - 0.851 m

P + P 4.80 + 20.36
X = X% - HOtana = 3.000 - 0.851x tan(0.0° ) = 3.000 m
Yy = Yo+ H =0.000 + 0.851 = 0.851 m

EEEEEEEREN

6.51 kN

e 24 _.30 kN




2-2-4 000000
gbooobodobooooobgoooboooabaod

0o oo oo oooad 00000 (kNOm)
Vi () Hi (kN) Xi(m) yi(m) VilXi Hilyi
oo/0000o00 143.53 28.71 1.456 1.106 | 208.98 31.75
oooad -— 9.60 -— 0.467 -— 4.48
oooad -— -0.78 -— 0.133 -— -0.10
oo -26.46 -— 1.778 -— -47.05 -—
ogoooooa 0.00 -— 0.000 -— 0.00 -—
oo 6.51 24.30 3.000 0.851 19.53 20.68
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 123.58 61.83 181.46 56.81

2-2-5 0000000000
000000V = 123.58 kN
O0OO0OOOO0H = 61.83 kN
OD00000M= Y (Vilx) - ¥ (Hidys) = 181.46 - 56.81 = 124.65 kNIm

2-2-6 00000000000
000000V =V = 123.58 kN
O0O00O00H =H= 61.83 kN
0O00000M = (VOB /7 2) - M
000000 = (123.58x 3.00 / 2) - 124.65 = 60.72 kNOm



2-3 00000000
2-3-1 0000000000

a.ggood

gbooobodbooobodobooobdaooobaod

b.00ODOOODOO
gboooboobooboooboooobooodogoood

c.00000
O0Ox0O0 =00 oooo | oogoo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 52.68 0.948 49.94
oooo 4.750x 18.60 = 88.35 1.750 154.61
oooo O 141.03 204.55

oooo

Xx=ZWDOx) /ZW = 204.55/ 141.03 = 1.450 m




2-3-2 00
gooobodoooooabdaod

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & = 30.0°

cos’(@ -a )

- 5 Vsin(o -
cos’a cos(a +6 )[1+ i;ggg :6 ;iézgg -E ; ¥

= 0.297

gooooooooo
pr = qOK = 3.43x 0.297 = 1.02 kN/m?
gooooooooo
p2 = KOy sOH + p = 0.297x 18.60x 2.300 + 1.02 = 13.73 kN/m
gad
P=1/20(:+p)OH=172x (1.02 + 13.73)x 2.300 = 16.96 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + 0 ) = 16.96x cos(0.0 + 30.0) = 14.69 kN
oooo

P, = POsin(a + 6 ) = 16.96x sin(0.0 + 30.0) = 8.48 kN
oooo

_20pm+p—~ H _ 2x1.02 + 13.73  2.300 _
b= "0 pm U3 7 102+13.73 < 3 -0.80m
X - HOtano = 3.000 - 0.820x tan(0.0° ) = 3.000 m

Yo + Ho = 0.000 + 0.820 = 0.820 m

X
y

EEEEEENEN

8.48 kN

- 14_.69 kN




2-3-3 000000
gbooobodobooooobgoooboooabaod

0o oo oo oooad 00000 (kNOm)
Vi () Hi (kN) Xi(m) yi(m) VilXi Hilyi
oo/0000o00 141.03 -— 1.450 -— 204.49 -—
0000 - - - - - -
0000 - - - - - -
000 - - - - - -
0000000 0.00 | —- 0.000 | —- 0.00 | —
oo 8.48 14.69 3.000 0.820 25.44 12.05
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 149.51 14.69 229.93 12.05
2-3-4 J00doooood
goooogv = 149.51 kN
OO000O00OH = 14.69 kN

OD00000M= Y (Vilx) - ¥ (Hidys) = 229.93 - 12.05 = 217.88 kNOm

goooddve=V
UO00000H = H

O0000OM = (VOB /2) - M
= (149.51x 3.00 / 2) - 217.88 = 6.39 kNOm

gooood

2-3-5 00000000000

149.51 kN
14.69 kN




2-4 000000000

2-4-1 OO000000000

a.ggood

gbooobodbooobodobooobdaooobaod

b.00ODOOODOO

gboooboobooboooboooobooodogoood

c.00000
O0Ox0O0 =00 oooo | oogoo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 52.68 0.948 49.94
oooo 4.750x 18.60 = 88.35 1.750 154.61
oooo O 141.03 204.55
oooo
x=ZWOx) /W = 204.55/ 141.03 = 1.450 m
O0x00 =000 oooo | ooooo
WKN)O Kn H(KN) y(m) HOy (KNOm)
od 52.680x 0.20 = 10.54 0.708 7.46
oooo 88.350x 0.20 = 17.67 1.350 23.85
oooo O 28.21 31.31
oooo
y=XHOyi) / ZH = 31.31/ 28.21= 1.110m




2-4-2 00
uboooodoooodooooodn

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & 15.0 °
0000000000006 = tan'OKs = 11.310 °

cos’(@ -6 -a)

i 0 )si -B -6
cosB cos’a cos(a +0 +3 )[1+ i;ggg :9 zzlg((:;ps(g B g T

= 0.452
0000(-B-6)<0000sin(e-p-6)=0000

gooooooooo

pr = qOK = 3.43x 0.452 = 1.55 kN/m?
gooooooooo

p2 = KOy sOH + p = 0.452x 18.60x 2.300 + 1.55 = 20.89 kN/m
gad

P=1/20(:+p)OH =17 2x (1.55 + 20.89)x 2.300 = 25.81 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + 6 ) = 25.81x cos(0.0 + 15.0) = 24.93 kN
oooo

P, = POsin(a + 6 ) = 25.81x sin(0.0 + 15.0) = 6.68 kN
oooo

_ 20p+p—~ H _ 2x1.55 + 20.89  2.300 _
Ho= "0 +pm U3 7 155+20.8 < 3 -0.89m
X - HOtano = 3.000 - 0.819x tan(0.0° ) = 3.000 m

Yo + Ho = 0.000 + 0.819 = 0.819 m

X
y

EEEEEENEN

6.68 kN

\ 24_.93 kN




2-4-3 000000
gbooobodobooooobgoooboooabaod

0o oo oo oooad 00000 (kNOm)
Vi () Hi (kN) Xi(m) yi(m) VilXi Hilyi
oo/0000o00 141.03 28.21 1.450 1.110 | 204.49 31.31
oooad -— -— -— -— -— -—
oooad -— -— -— -— -— -—
oo -— -— -— -— -— -—
ogoooooa 0.00 -— 0.000 -— 0.00 -—
oo 6.68 24.93 3.000 0.819 20.04 20.42
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 147.71 53.14 224.53 51.73

2-4-4 0000000000
000000V = 147.71 kN
O0OO0OOOO0H = 53.14 kN
OD00000M= Y (Vilx) - ¥ (Hidys) = 224.53 - 51.73 = 172.80 kNOm

2-4-5 00000000000
000000V =V = 147.71 kN
O0O00O00H =H= 53.14 kN
0O00000M = (VOB /7 2) - M
000000 = (147.71x 3.00 / 2) - 172.80 = 48.77 kNOn



2-5 000000o00o

2-5-1 0000000000

000 | OO0 | 00000
booob VEKN) | HQKN) M(KNC)
00o0o0@Oo) 115.62 | 28.99 142.54
ODooo@oo) 123.58 | 61.83 124.65
00oo@o) 149.51 | 14.69 217.88
Oooo@oo) 147.71 | 53.14 172.80

2-5-2 00000000000
OO0 | OO0 | 00000
booob VEKN) | HQKN) M(KNC)
0ooo@o) 115.62 | 28.99 30.89
Oooo@oo) 123.58 | 61.83 60.72
0o0oo@o) 149.51 | 14.69 6.39
ODooo@oo) 147.71 | 53.14 48.77




300oooooo
-1 00000000
3-1-1 000Oooooog

0000000 (ooooooo)
d =M/V=14254 / 115.62 = 1.233 m

oooooo
€a=B/3=1.000m

oooo
e =B/2-d=3.000/2-1.233

=0.267 m<e=1.000m ( 0K)

oooo
OOM: O0ODOO0OOODO0OOO0O (kNOm)
Oov: 00O kN
O0OB: ODOO (m)

3-1-2 00000000

£ - VOp +COB _ 115.62x 0.58 + 0.00x 3.00

H 28.99
=2.3130 1.2 (0K )

0ooo

0Ov: 000 (kN)

0Dp:00000000000000

00C: 0000000000000 (KV/m)

00B: 00O (W)

OOH: 000 (kN)

3-1-3 000000000400
gboooooogoo
X =30d =3x1.233 =3.699 m
=3.699 m>B=23.000m00000OOO

0oooo
Ve . 60Me _ 115.62 . 6x 30.89 _ )
®=75 * g ~ 3000 * 3.0000 - 29-13KN/m
Ve 60M _ 115.62  6x 30.89 _ )
%= g - g - 3.000 - 3.0000 - 17-95KN/m

0ooo

0O0d: 0000000 (0O0000) (m
O0Ve: 00000000000 (kN)
O0B: 00O (W)

OOM: 0000000000000 (kNOm)

1.233 ‘ 0.267

1.500 1.500

59.13 Wl?-gs




3-2 000000000
3-2-1 00000000
Oooo0ooo (ooooooo)
d =M/V=124.65/ 123.58 = 1.009 m

oooood
€ =B/3=1.000m
oooo
e =B/2-d=3.000/72 - 1.009

=0.491 m<e=1.000m ( OK)
oooo

OOM: OODO0OOODOO0OOO0O (kNOm)
Oov: 00O kN

O0OB: ODOO (m)

3-2-2 00000000

£ - VOp +COB _ 123.58x 0.58 + 0.00x 3.00
- H - 61.83
=1.159 < 1.2 ( OUT )

0ooo

0Ov: 000 (kN)
0Dp:00000000000000
00C: 0000000000000 (KV/m)
00B: 00O (W)

OOH: 000 (kN)

3-2-3 00000000000
gboooooogoo
X =30d =3x1.009 = 3.027 m
=3.027 m>B=23.000m 000 OOODO

0oooo
Ve . 60Me _ 123.58 . 6x 60.72 _ ,
®=7% * g = 3000 © 3.000 - 01-67k\/m
Ve 60Me _ 123.58  6x 60.72 _ ,
=% - B - 3.000 ~ 3.0000 = 0-71KN/m

0ooo

0O0d: 0000000 (0O0000) (m
O0Ve: 00000000000 (kN)
O0B: 00O (W)

OOM: 0000000000000 (kNOm)

1.009‘ 0.491

1.500 1.500

81.67 WO_?l




3-3 00000000
3-3-1 000pooooog
O000ooo (ooooooo)
d =M/V=217.88/ 149.51 = 1.457 m
oooooo
ea=B/6=0.500m
oooo
e =B/2-d=3.000/2-1.457
=0.043m<e=0.500m(0K)

oooo
OOM: OODO0OOODOO0OOO0O (kNOm)
Oov: 00O kN
O0OB: ODOO (m)

3-3-2 00000000

£ - VOp +COB _ 149.51x 0.58 + 0.00x 3.00

H 14.69
=5.903 0 1.5 (0K )

0ooo

0Ov: 000 (kN)

0Dp:00000000000000

00C: 0000000000000 (KV/m)

00B: 00O (W)

OOH: 000 (kN)

3-3-3 000000000400
gboooooogoo
X =30d =3x1.457 = 4.371 m
=4.371m>B=23.000m000 00OO0O

0oooo
Ve . 60Me _ 149.51 . 6x 6.39 _ ,
®=735 * g = 3000  3.0000 - >4-10kN/m
Ve 60M _ 149.51  6x 6.39 _ ,
=75 - B - 3.000 ~ 3.0000 - 45-58 kN/m
0ooo

0O0d: 0000000 (0O0000) (m
O0Ve: 00000000000 (kN)
O0B: 00O (W)

OOM: 0000000000000 (kNOm)

1.457 ‘0-043
1.500 1.500




3-4 000000000
3-4-1 0O00000OOoo
Oooo0ooo (ooooooo)
d =M/V=172.80 / 147.71 = 1.170 m

oooood
€ =B/3=1.000m
oooo
e =B/2-d=3.000/72-1.170

=0.330 m< e =1.000m ( OK)
0ooo
OOM: 000000000000 (kKNOn)
0Ov: 000 (kN)
00B: 00O (m)

3-4-2 00000000

£ - VOu +COB _ 147.71x 0.58 + 0.00x 3.00

H 53.14
=1.6120 1.2 (0K )

0ooo

0Ov: 000 (kN)

0Dp:00000000000000

00C: 0000000000000 (KV/m)

00B: 00O (W)

OOH: 000 (kN)

3-4-3 00000000000
gboooooogoo
X =30d =3x1.170 = 3.510 m
=3.510 m>B=23.000m 000 OOODO

0oooo
Ve . 6O0Me _ 147.71 . 6x 48.77 _ )
®=7% * g = 3000 * 3.000 - 0L-75k\/m
Ve 60Me _ 147.71  6x 48.77 _ )
=% - B - 3.00 -~ 3.0000 - 16-72kN/m

0ooo

0O0d: 0000000 (0O0000) (m
O0Ve: 00000000000 (kN)
O0B: 00O (W)

OOM: 0000000000000 (kNOm)

1.170 ‘ 0.330

1.500 1.500

81.75 WlG.?Z




3-5 000000000

000 (m) O0000 |00000 (ki)

ogoooo
Iel €a Fs Fsa q Ca

oo

oooo@o)o 0.267 < 1.000 2.313>1.2 59.13 < 300.00 0K

oooo@oo) 0.491 < 1.000 1.159 < 1.2 81.67 < 450.00 ouT

oooo@o)o 0.043 < 0.500 5.903 > 1.5 54.10 < 300.00 0K

oooo@oo) 0.330 < 1.000 1.612 > 1.2 81.75 < 450.00 0K




4 000000
ubooood b0 aobdaod
ubooobooboooobdoodo maoooaodao

4-1 0000bo4aod
4-1-1 0000400

Oooo0oooo00ooobo00ooooooooo000Mm, ypooooooooooooooooooo

a.un
1
obooooooooo
0000000 y =24.50 kN/m* OO Wi=y OVi
0o opooogd oo opDgo 00000 (kNDm)
Vi(m®) Wi (kN) xi(m) yi(m) Wil | KnOWiOyi
1 | 0.500x 1.900 = 0.950 23.28 0.250 | 0.950 5.82 4.43
> ad 0.950 23.28 5.82 4.43

uboooooooood

x=XWOx) /W= 5.8/ 23.28= 0.250 m
y=Z ®OWOy) /W= 443/ 23.28= 0.950 m
ooooooooooooo

X"= X - X = 0.250 - 0.250 = 0.000 m

y*=y =0.950 m

oood

OOx: 0000000000 O0000O0O (m



b.0DO
gbooobooooooabodaod

0000000000000 x= 0.250 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 1.900 m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf

gooboooooboog e = 30.0°
ooopoooooogoog B = 0.0 °
00ooooooooooo & = 10.0°

2
K = cos’(p -a )

sin(o +d )sin(o -B )

cos'a cos(a +8 )[1+ | cos(a +8 ycos(a By ¥

= 0.308
goooooooo Ha = 0.300 m
goooooooo Ho = 1.600 m

gooooooooo
pr = qOK = 3.43x 0.308 = 1.06 kN/m
goooooo
pe = KOy sOHa + pr = 0.308x 18.60x 0.300 + 1.06 = 2.78 kN/m
gooooooooo
pp=KOW ¢t -y wOH + p
= 0.308x (19.60 - 9.80)x 1.600 + 2.78 = 7.61 kN/n?

0ooooo0oo
Pr=1/20(n + p)OH = 1/ 2x (1.06 + 2.78)x 0.300 = 0.58 kN
00000000
Po=1/20(:+ p)OH = 1/ 2x (2.78 + 7.61)x 1.600 = 8.31 kN
0oo
P =P +P=0.58 +8.31 = 8.89 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + &) = 8.89x cos(0.0 + 10.0) = 8.75 kN
oooo

P, = POsin(a + 6 ) = 8.89x sin(0.0 + 10.0) = 1.54 kN
oooo

M= P (2Rt Pty - 1 00 kTm

ptp -3
Me = sz(%‘ﬁmm ) = 5.62 knan
oo Mt e | 1,00 +5.62 _ o o

P. + P2 0.58 + 8.31
X = HO tana - X = 0.745x tan(0.0° ) - 0.250 = -0.250 m
Yy = Yo+ H =0.000 +0.745 = 0.745 m

EEEEEEEREEN

1.54 kN

I 8._.75 kN




c.un

goooog
oodd H 1.600 m
0000 Pr=1/20y W 0H?=1/2x 9.80x 1.600° = 12.54 kN
0000 yas=H /3= 1.600 /3 = 0.533m
gooooo
oodd H 0.000 m
0000 P.=1/20y W 0H?=1/2x 9.80x 0.000° = 0.00 kN
0000 ya=H /3= 0.000/ 3= 0.000m
d.000O0Do0O
ogbooooooooooo
0o oo oo oooad 00000 (kNOm)
Vi(m®) Hi (kN) Xi(m) yi(m) Vil Hilyi
oo/000000 23.28 -— 0.000 -— 0.00 -—
oooad -— 12.54 -— 0.533 -— 6.68
oooad -— 0.00 -— 0.000 -— 0.00
oo 1.54 8.75 | -0.250 0.745 -0.39 6.52
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 24.82 21.29 -0.39 13.20

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

e.Joogn

uboooboobobooobgoooboooobuooobdaooooan

00000000M= Y (Hdys) =

00000000S = ¥ (H)

13.20

kNOm

21.29 kN




4-1-2 00000

000 D16 ctc 250 OO OOOO

gboooodobgoodM
ooooooooboooos
O0o00oooooooob
ubooooobdaooan
oooooooooooar
oooooooooood
Uboooodobdgoddas

gboooodobooooobogoooanx =

O s = 47.2 N/mm?
oc = 0.9 N/mm

T =S/ (bOd) = 21290 / (1000x 380) = 0.06 N/m?

13200000 NOmm
21290 N
1000 mm
500 mm
120 mm
380 mm
794.4 mn?

84 mm

oo oo goan goooo | 00
gooooan N/mm? 47.2 160.0 0K
Oooooooooooogd | N/mm? 0.9 8.0 0K
gboooooooooan N/mm? 0.06 0.39 0K




4-2 000000000
4-2-1 000000

a.tn
gbooobodbooobodobooobdaooobaod

b.0DO
gbooobodooooodgoooodn

0000000000000 x= 0.250 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 1.900 m

oooooooooobood o= 0.0°
0000000000000 vy« 18.60 kN/m*
oooooooooooono e = 30.0°
oooooooooooog p= 00°
oooooooooooog 6= 00°

0000000000006 =tan'UKe = 11.310 °©

cos’(@ -6 -a)

in(@ +5 )sin(e -B -0
cosB cos’a cos(a +0 +3 )[1+ ;Zgg :9 zzlg((:gs(g B g T

= 0.473
0000(-B-6)<0000sin(e-p-6)=0000

O00D0000DDO0OOe "= tan'Oke" = 15.642 °
cos’(@ -6 "-a )

- 5 Ysin(o B 0 -
cosB "cos’a cos(a +6 "+3 )[1+ i;ggg :9 Eéng?os[ga B % T

K™ =

= 0.548
0000(@-B-6")<0000sin(@-p-6") =0000

goooooodn Ha
gboooooodn Ho

0.900 m
1.000 m

gooooooooo

pr = qOK = 3.43x 0.473 = 1.62 kN/m
gooooooon

p2 = KOy sOHa + pr = 0.473x 18.60x 0.900 + 1.62 = 9.54 kN/n?
gooooooon

ps = K*O(q + y sOH) = 0.548x (3.43 + 18.60x 0.900) = 11.05 KN/n?
gooooooooo

pe =K'O( ¢t -y wOH + ps

= 0.548x (19.60 - 9.80)x 1.000 + 11.05 = 16.42 kN/n?

0D0oo00ooo
Po=1/720(n + p)OH =17 2x (1.62 + 9.54)x 0.900 = 5.02 kN
00o0o00ooo
Po=1720(:+ p)Ot =17 2x (11.05 + 16.42)x 1.000 = 13.74 kN
ooo

P =P+ P.=5.02 +13.74 = 18.76 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

gooo

Pn = POcos(a + &) = 18.76x cos(0.0 + 0.0) = 18.76 kN
gooo

P, = POsin(a + 6 ) = 18.76x sin(0.0 + 0.0) = 0.00 kN
gooo

Moo= P (2Rt Pty - 674 kT

P+ p2 3
_ 20ps + pe oy Ky _
M = P00 ( D+ ps 0 3) = 6.42 kNOm
Ho = Mo+ M _ 6.74 + 6.42 _ 0.701 m

P. + P2 5.02 + 13.74
X = HO tana - % = 0.701x tan(0.0° ) - 0.250 = -0.250 m
Yy = VYo + H =0.000 + 0.701 = 0.701 m

EEEEEEEREEN

0.00 kN

= 18_.76 kN




c.un

goooog
oodd H 1.000 m
0000 Pr=1/20y W 0H?=1/2x 9.80x 1.000° = 4.90 kN
0000 ys=H /3= 1.000/3 = 0.333m
gooooo
oodd H 0.000 m
0000 P.=1/20y W 0H?=1/2x 9.80x 0.000° = 0.00 kN
0000 ya=H /3= 0.000/ 3= 0.000m
d.000O0Do0O
ogbooooooooooo
0o oo oo oooad 00000 (kNOm)
Vi(m®) Hi (kN) Xi(m) yi(m) Vil Hilyi
oo/000000 23.28 4.66 0.000 0.950 0.00 4.43
oooad -— 4.90 -— 0.333 -— 1.63
oooad -— 0.00 -— 0.000 -— 0.00
oo 0.00 18.76 | -0.250 0.701 0.00 13.15
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 23.28 28.32 0.00 19.21

O0000OxO00000000000 (00000000 +)

dbooodydooobaooooodn

e.Joogn

uboooboobobooobgoooboooobuooobdaooooan

00000000M= Y (Hdys) =

00000000S = ¥ (H)

19.21

kNOm

28.32 kN




4-2-2 00O0O0OO

000 D16 ctc 250 OO OOOO

gboooodobgoodM

19210000 NOmm

O0o0oooooooos = 28320 N
0o000o00o0o0oodb = 1000 mm
gooooooooodnp = 500 mm
0o000o0o0o0oooodds= 120 mm
0o000o0o0o0ooodd = 380 mm
gooooooooddAs = 794.4 mn?
gooooboooooooooooox = 84 mm
Os = 68.7 N/mm?
oc = 1.3 N/mm
T =S/ (bOd) = 28320 / (1000x 380) = 0.07 N/mm

oo oo gooo goooo oo
goooooo N/mm? 68.7 300.0 oK
goooooooooooo N/mm? 1.3 12.0 oK
goo0Oooooooooo N/mm? 0.07 0.58 oK




4-3 00000000
4-3-1 000000

a.tn
gbooobodbooobodobooobdaooobaod

b.0DO
gboooboobooooobdaod

0000000000000 x= 0.250 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 1.900 m

ogooooooououod o = 0.0 °
O00000oo0ooooog y s 18.60 kN/m?
gooboooooboog e = 30.0°
ooopoooooogoog B = 0.0 °
00o0ooooooooooo & = 10.0°
cos?(p -a )

- 5 Vsin(o -
cos’a cos(a +6 )[1+ i:)zgg :6 ;i:)zgg -E ; ¥

= 0.308

gooooooooo

pr = qOK = 3.43x 0.308 = 1.06 kN/m
gooooooooo

p2 = KOy sOH + p: = 0.308x 18.60x 1.900 + 1.06 = 11.94 kN/m
gad

P=1/20(:+p)IH=1/2x (1.06 + 11.94)x 1.900 = 12.35 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

goao

Pn = POcos(a + &) = 12.35x cos(0.0 + 10.0) = 12.16 kN
gooo

P, = POsin(a + 6 ) = 12.35x sin(0.0 + 10.0) = 2.14 kN
gooo

pr+p X +

= zalipz 03 = Ty ries X T3 =068

X = HO tana - % = 0.685x tan(0.0° ) - 0.250 = -0.250 m

Yy =¥ + H=0.000 + 0.685 = 0.685 m

EREEEEEEEEN

2.14 kN

e 12.16 kN




c.ubooood

uboooodoooodn

0o oo oo oooad 00000 (kNOm)
Vi(m®) Hi (kN) Xi(m) yi(m) VilXi Hilyi
oo/0000o00 23.28 -— 0.000 -— 0.00 -—
oooad -— -— -— -— -— -—
oooad -— -— -— -— -— -—
oo 2.14 12.16 | -0.250 0.685 -0.54 8.33
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 25.42 12.16 -0.54 8.33

O0000OxO00000000000 (00000000 +)

dbooodydooobaooooodn

d.00000

0D000000000000000000000000000000000
00000000M= Y (Hdys) =

00000000S = ¥ (H)

8.33 kNOm
12.16 kN




4-3-2 00000

000 D16 ctc 250 OO OOOO

gboooodobgoodM
oooooooobooos =
O0o00oooooooob
ubooooobdaooan
oooooooooooar
oooooooooood
uboooodobdgoodas =

gboooodobooooobogoooanx =

Os = 29.8 N/mm?
oc = 0.6 N/mm

T =S/ (bOd) = 12160 / (1000x 380) = 0.03 N/m?

8330000 NOmm
12160 N
1000 mm

500 mm
120 mm
380 mm

794.4 mn?

84 mm

oo oo goan goooo | 00
gooooan N/mm? 29.8 160.0 0K
Oooooooooooogd | N/mm? 0.6 8.0 0K
gboooooooooan N/mm? 0.03 0.39 0K




4-4 00O0O00004do
4-4-1 000000

a.tn
gbooobodbooobodobooobdaooobaod

b.0DO
gbooobodooooodgoooodn

0000000000000 x= 0.250 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 1.900 m

oooooooooobood o= 0.0°
0000000000000 vy« 18.60 kN/m*
oooooooooooono e = 30.0°
oooooooooooog p= 00°
oooooooooooog 6= 00°

0000000000006 =tan'UKe = 11.310 °©

cos’(@ -6 -a)

in(@ +5 )sin(e -B -0
cosB cos’a cos(a +0 +3 )[1+ i;ggg :9 2?;((:23(& B g T

= 0.473
0000(-B-6)<0000sin(e-p-6)=0000

gooooooooo

pr = qOK = 3.43x 0.473 = 1.62 kN/m
gooooooooo

pz = KOy sOH + pr = 0.473x 18.60x 1.900 + 1.62 = 18.34 kN/m
gad

P=1/20(:+p)OH=172x (1.62 + 18.34)x 1.900 = 18.96 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(o + &) = 18.96x cos(0.0 + 0.0) = 18.96 kN
oooo

P, = POsin(a + 6 ) = 18.96x sin(0.0 + 0.0) = 0.00 kN
oooo

_20pi 4 H _ 2x1.62 +18.34 _ 1.900 _
b= "h0vpm U3 7 162+18.34 < 3 -0.68m

X = HO tana - % = 0.685x tan(0.0° ) - 0.250 = -0.250 m
y =VYe+ H =0.000 + 0.685 = 0.685 m

EREEEEEEEEN

0.00 kN

= 18.96 kN




c.ubooood

uboooodoooodn

0o oo oo oooad 00000 (kNOm)
Vi(m®) Hi (kN) Xi(m) yi(m) VilXi Hilyi
oo/0000o00 23.28 4.66 0.000 0.950 0.00 4.43
oooad -— -— -— -— -— -—
oooad -— -— -— -— -— -—
oo 0.00 18.96 | -0.250 0.685 0.00 12.99
ogooooo 0.00 0.00 0.000 0.000 0.00 0.00
oooad 23.28 23.62 0.00 17.42

O0000OxO00000000000 (00000000 +)

dbooodydooobaooooodn

d.00000

0D000000000000000000000000000000000
00000000M= Y (Hdys) =

00000000S = ¥ (H)

17.42 KNOm
23.62 kN




4-4-2 0O0OOO

000 D16 ctc 250 OO OOOO

gboooodobgoodM

17420000 NOmm

O0o0oooooooos = 23620 N
0o000o00o0o0oodb = 1000 mm
gooooooooodnp = 500 mm
0o000o0o0o0oooodds= 120 mm
0o000o0o0o0ooodd = 380 mm
gooooooooddAs = 794.4 mn?
gooooboooooooooooox = 84 mm
Os = 62.3 N/mm?
oc=1.2 N/mm
T =S/ (bOd) = 23620 / (1000x 380) = 0.06 N/mm

oo oo gooo goooo oo
goooooo N/mm? 62.3 300.0 oK
goooooooooooo N/mm? 1.2 12.0 oK
goo0Oooooooooo N/mm? 0.06 0.58 oK




4-5 000004aoa

4-5-1 DO0000040004ao4an

oo ooooooo ooo
ooooo ooooo ooooo ooooo oo
M(kNOm) Oc O Os Osa
oooo@o)yo 13.20 0.9< 8.0 47.2 < 160.0 0K
oooo@oo) 19.21 1.3 < 12.0 68.7 < 300.0 0K
oooo@o)yo 8.33 0.6 < 8.0 29.8 < 160.0 0K
oooo@oo) 17.42 1.2 < 12.0 62.3 < 300.0 0K
4-5-2 OO00OO0O0ODOOO
oood ooooooo
ooooo oooooo oo
S(kN) T Ta
oooo@o)yo 21290.00 0.06 < 0.39 0K
oooo@oo) 28320.00 0.07 < 0.58 0K
oooo@o)yo 12160.00 0.03 < 0.39 0K
oooo@oo) 23620.00 0.06 < 0.58 0K




stubodoboooobaooobaooooan
ubooobod o ooobdaod
gooobodobooooobgood mooabaod

5-1 0000000d
5-1-1 0doaod

Ooooooo0oooo0oooo0ooobooooooooooooooOboO0oooOoo0oooO0ooooo

a.ggood
1) 0o00oooo

gboooooogoo
0000000 y =24.50 kN/m* OO0 W=y OVi

0o goooo ad agooo goooo
Vi(m®) Wi (kN) xi(m) WilIxi (KNOm)
1 2.500x 0.400 = 1.000 24.50 1.250 30.63
> g 1.000 24.50 30.63
gooo

x=3WOx) /W= 30.63/ 24.50= 1.250m

2) 000oood
0oO0o00m0b2.000 m

uboooodoooodn

0o gooooo gooo goooo
Vi(m®) xi(m) Vilx; (KNOm)
1 2.500x 1.900 = 4.750 1.250 5.94
2 O 4.750 5.94
gooo

x=3MOx)/=Vi= 594/ 4.75= 1.250m



3 000oODOoOooooo
0oO0o00m02.000 m

uboooodoboooodgoooodn

0o goooo agooo goooo
Vi(m) xi(m) Vilxi (KNOm)
1 2.500x 1.600 = 4.000 1.250 5.00
b2 g 4.000 5.00
gooo
x=SWOx)/SVi= 500/ 4.00= 1.250m

4 000poOooooo
oboobooboboooboboooboboooboboooboboooboon
Va=Vi-\2
xs = (Vildxe - VeOx) / Vs
gogo
Vi,Vo,Vs 1 00 0000000000000000 (m)
x,X,xs : 000000000CO0OO00O0O00 (m

goooooodn

od oooo

V(m®) x(m)
oooo 4.750 1.250
oooo 4.000 1.250
oooo 0.750 1.250




5) 00000

O0Ox0O0 =00 oooo | ooooo

VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)

od O 24.50 1.250 30.63

o000 oooo 0.750x 18.60 = 13.95 1.250 17.44

o000 oooo 4.000x 19.60 = 78.40 1.250 98.00

oooo O 116.85 146.07
oooo

X=X WOx) /W= 146.07 / 116.85 = 1.250 m

b.0D0O
000000000 H = 0.400 m
oooooooo0d H = 2.000 m

000000000 pe=y.WOH = 9.80x 0.400 =
000000000 po=y.OH = 9.80x 2.000 =

ooooooood B = 3.000 m
uboooboobgooobaoooban
oooooooog L = 2.500 m

3.92 kN/m?
19.60 kN/n?

000000000ps = pr - pl—é@m:fs.ss kN/m?

aog

U= 1/20(p + p)0L = 1/2x (19.60 + 6.53)x 2.500 = 32.66 kN

gbooobodaod

x= Pt 20p - L _ 6.53 + 2x 19.60  2.500

p+tp 23 6.53 + 19.60

=1.458 m




c.un
gbooobooooooabodaod

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf

gooboooooboog e = 30.0°
ooopoooooogoog B = 0.0 °
0oooooooooooo & = 30.0°

2
K = cos’(p -a )

sin(o +d )sin(o -B )

cos'a cos(a +8 )[1+ | cos(a +8 ycos(a By ¥

= 0.297
goooooooo Ha = 0.300 m
goooooooo Ho = 2.000 m

gooooooooo
pr = qOK = 3.43x 0.297 = 1.02 kN/m?
goooooo
pe = KOy sOHa + pr = 0.297x 18.60x 0.300 + 1.02 = 2.68 kN/m
gooooooooo
pp=KOW ¢t -y wOH + p
= 0.297x (19.60 - 9.80)x 2.000 + 2.68 = 8.50 kN/n?

0ooooo0oo
Pr=1/20(p + p)OH = 1 /7 2x (1.02 + 2.68)x 0.300 = 0.56 kN
00000000
Po=1/20(:+ p)OH = 1 /7 2x (2.68 + 8.50)x 2.000 = 11.18 kN
0oo

P =P+ P.=0.56+11.18 = 11.74 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + &) = 11.74x cos(0.0 + 30.0) = 10.17 kN
oooo

Py = POsin(a + 6 ) = 11.74x sin(0.0 + 30.0) = 5.87 kN
oooo

M= P (2Rt Pty o 1 19 kT

P+ p2 3
_ 20p2 + ps — Hy _
M = P00 ( o+ ps O 3) = 9.24 kNOm
Ho = Mo+ M _ 1.10 + 9.24 _ 0.888 m

P. + P2 0.56 + 11.18
X = X - HOtana = 3.000 - 0.888x tan(0.0° ) = 3.000 m
Yy =VYe+ H =0.000 + 0.888 = 0.838 m

EEEEEEEREN

5.87 kN

e 10.17 kN

00000000000000000000000000
b = ZDLP“ - 2;.2687 = 4.70 KN/m
0ooo
O0p: DO0DO00000 (KV/m)
O00P: DOODOOD (KN
00L: 0000000 (n)
0oo
N=1/20p0L =P = 5.83 KN
0ooo
x=2/30L=27/3x2.500 = 1.667 m




d.0o0o0

gboooboobooooabdaod
0000000000 g = 59.13 kN/m
0000000000 @ = 17.95 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.500 m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kﬁﬁmL:wi7mmz

0ooo
Q=1720(q+ g)0L =17 2x (17.95 + 52.27)x 2.500 = 87.78 kN

0000 (COO0O00O000)

_ Q+20G L _ 52.27 +2x17.95  2.500

S g tq 37 52.27 + 17.95 3 - 1.046m
1.233 ‘ 0.267
1.500 1.500

59.13 Wl?.gs

e.dooood
gbooooobgoooodn

0o god goog (0oooo

Vi(kN) xi(m) Vilxi (kNOm)
ad 116.85 1.250 146.06
ggd -32.66 1.458 -47.62
ad 5.88 1.667 9.80
goooooo 0.00 0.000 0.00
gooo -87.78 1.046 -91.82
agooo 2.29 16.42

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

f.0000o
doooooooooooooodooooooooooooooooono
O00D000000000D00000M =3 (Vilxi) = 16.42 kNOm
o@ooooooog)
000D0O000oooooooOOM = 13.20 kNOm
M < MO OO
OM =M = 13.20 kNOm



5-1-2 00000

000 D16 ctc 250 OO OOOO

gboooodobgoodM

13200000 NOmm

00o00o00o0oooodb = 1000 mm
gooooooooodnp = 400 mm
0o000o0o0o0oooodds= 150 mm
0o000o0o0o0ooodd = 250 mm
go0oooooooddAs = 794.4 mn?
gooooboooooooooooox = 66 mm
Os = 72.9 N/mm?
oc=1.7 N/mm
oo oo gooo goooo oo
goooooo N/mm? 72.9 160.0 oK
goooooooooooo N/mm? 1.7 8.0 oK




5-2 000000000
5-2-1 000000

a.ggood
1) 0o00oooo

gbooobodooobodobooobdaooobaod

2) 000oood
dboooboobooboooboooobooodaooood

3 000ODOOooooO
0O00001.400 m

uboooodoboooodgoooodn

0o ooooo ooood ooooo
Vi(m®) xi(m) Vilx; (KNOm)
1 2.500x 1.000 = 2.500 1.250 3.13
2z O 2.500 3.13
goog
x=SWOx)/SVi= 313/ 2.50= 1.250m

4 000000ooo
uboooboobobooobgoooboooobuooobdaooooan

Vs =Vi - V2
xs = (Vildxe - VeOx) / Vs
gogo

Vi,Vo,Vs - 000000000 O0000000O00 ()
x,X,xs 1 0000000000 O0000CO000 (m

ooooooooo
od oooo
V(m®) x(m)
oooo 4.750 1.250
oooo 2.500 1.250
oooo 2.250 1.250




5) 00000

O0Ox0O0 =00 oooo | ooooo

VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)

od O 24.50 1.250 30.63
o000 oooo 2.250x 18.60 = 41.85 1.250 52.31
o000 oooo 2.500x 19.60 = 49.00 1.250 61.25
oooo O 115.35 144.19

goao
Xx=ZWDOx) /ZW= 144.19 / 115.35= 1.250 m

b.0D0O

000000000 H = 0.400 m

o0o00o0o0o000d H = 1.400 m

000000000 pe=yuWdH = 9.80x 0.400 = 3.92 kN/m
000000000 p=yWdH = 9.80x 1.400 = 13.72 kN/m?
ooooooood B = 3.000 m
uboooboobgooobaoooban

oooooooog L = 2.500 m

DDDDDDDDDm:pp-&ﬁﬁmLza%kww

ooo
U=1/20(p: + p)OL = 1/2x (13.72 + 5.55)x 2.500 = 24.09 kN
00oo0ooo

x= Pt 20p o L _ 5.55 + 2x 13.72 ~ 2.500
T ot 3~ 555+ 13.72 3

=1.427 m



c.un
uboooodoboooodgoooodn

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & 15.0 °
0000000000006 = tan'OKs = 11.310 °

cos’(@ -6 -a)

sin(o +6 )sin(p -B -6)
cosB cos’a cos(a +6 +d )[1+ cos(a +8 +5 )cos(a B )

= 0.452
0000(-B-6)<0000sin(e-p-6)=0000

0000000000006 "= tan'UKe" = 15.642 °

cos’(@ -6 "-a )

]2

K™ =

. . sin(e +5 )sin(p -B -6 *)
cos® "cosa cos(a +0 "+0 )[1+ cos(a +8 "+5 )cos(a -B )

= 0.538
0000(@-B-6")<0000sin(@-B-6") =0000

goooooodn Ha
gboooooodn Ho

0.900 m
1.400 m

gooooooooo

pr = qOK = 3.43x 0.452 = 1.55 kN/m?
gooooooon

pz = KOy sOHa + pr = 0.452x 18.60x 0.900 + 1.55 = 9.12 kN/n?
gooooooon

ps = K*O(q + y sOH) = 0.538x (3.43 + 18.60x 0.900) = 10.85 KN/n?
gooooooooo

pe =K'O( ¢t -y wOH + ps

= 0.538x (19.60 - 9.80)x 1.400 + 10.85 = 18.23 kN/n?

0ooooo0oo

Pr=1/20(n + p)OH = 1 /7 2x (1.55 + 9.12)x 0.900 = 4.80 kN
00000000

Po=1/20(m + p)OH = 1 7 2x (10.85 + 18.23)x 1.400 = 20.36 kN
0oo

P =Pi+P=4.80 + 20.36 = 25.16 kN

]2



gbooobodoboooodobooobodobooobodbooobdaooooan

gooo

Pn = POcos(a + &) = 25.16x% cos(0.0 + 15.0) = 24.30 kN
gooo

Py = POsin(a + 6 ) = 25.16x sin(0.0 + 15.0) = 6.51 kN
gooo

M= P (2Rt Pty -8 37 kam

P+ p2 3
Mo = PO (%‘%@D ) = 13.05 kNOm
Ho = Mo+ Mo _ 8.37 + 13.05 - 0.851 m

Pr + P2 4.80 + 20.36
X = X% - HOtana = 3.000 - 0.851x tan(0.0° ) = 3.000 m
Yy = Yo+ H =0.000 + 0.851 = 0.851 m

EEEEEEEREN

6.51 kN

e 24 _.30 kN

00000000000000000000000000
_ 20P, _ 2x6.51
P= L T 20500
oooo
O0p: 0000000000 (kKNV/m)
O0P: 00O0ODOO0 (kN)
O0OL: 0000000 (m)
ooo
N=1/20p0OL =P = 6.51 kN
oooo
x=2/30L=2/3x2.500=1.667m

= 5.21 kN/m



d.0o0o0

gboooboobooooabdaod
0000000000 g = 81.67 kN/m
0000000000 g= 0.71 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.500 m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kﬁﬁmL:%JSsz

0ooo
Q=1/20(q + g)OL =17/ 2x (0.71 + 68.18)x 2.500 = 86.11 kN

0000 (0O0000000)

_ @ +t20¢ L _ 68.18 + 2x 0.71  2.500

= Tg+q 737 68.18+0.71 3 - 0.842m
1-009‘ 0.491
1.500 1.500
81.67W0_71

e.dooood
gbooooobgoooodn

0o god goog (0oooo

Vi(kN) xi(m) Vilxi (kNOm)
ad 115.35 1.250 14419
ggd -24.09 1.427 -34.38
ad 6.51 1.667 10.85
goooooo 0.00 0.000 0.00
gooo -86.11 0.842 -72.50
agooo 11.66 48.16

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

f.0000o
doooooooooooooodooooooooooooooooono
O00D000000000D00000M =3 (Vilxi) = 48.16 kNOm
o@ooooooog)
000D0O000oooooooOOM = 19.21 kNOm
M < MO OO
OM =M = 19.21 kNOm



5-2-2 00000

000 D16 ctc 250 OO OOOO

gboooodobgoodM

19210000 NOmm

00o00o00o0oooodb = 1000 mm
gooooooooodnp = 400 mm
0o000o0o0o0oooodds= 150 mm
0o000o0o0o0ooodd = 250 mm
go0oooooooddAs = 794.4 mn?
gooooboooooooooooox = 66 mm
os = 106.1 N/mm
oc = 2.5 N/mm
oo oo gooo goooo oo
goooooo N/mm? 106.1 300.0 oK
goooooooooooo N/mm? 2.5 12.0 oK




5-3 00000000
5-3-1 000000

a.ggood
1) 0o00oooo

gbooobodooobodobooobdaooobaod

2) 000oood

dboooboobooboooboooobooodaooood

3) oooo
O0Ox0O0 =00 oooo | ooooo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 24.50 1.250 30.63
oooo 4.750x 18.60 = 88.35 1.250 110.44
oooo O 112.85 141.07
oooo

x=ZWOx) / ZW

= 141.07/ 112.85= 1.250 m




b.0DO
gbooobooooooabodaod

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & = 30.0°

cos’(@ -a )

- 5 Vsin(o -
cos’a cos(a +6 )[1+ i;ggg :6 ;iézgg -E ; ¥

= 0.297

gooooooooo
pr = qOK = 3.43x 0.297 = 1.02 kN/m?
gooooooooo
p2 = KOy sOH + p = 0.297x 18.60x 2.300 + 1.02 = 13.73 kN/m
gad
P=1/20(:+p)OH=172x (1.02 + 13.73)x 2.300 = 16.96 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + &) = 16.96x cos(0.0 + 30.0) = 14.69 kN
oooo

Py = POsin(a + 6 ) = 16.96x sin(0.0 + 30.0) = 8.48 kN
oooo

_20pi 4 H . 2x1.02 +13.73 2.300 _
b= "0 pm U3 7 102+13.73 < 3 -0.80m

X - HOtano = 3.000 - 0.820x tan(0.0° ) = 3.000 m
Yo + Ho = 0.000 + 0.820 = 0.820 m

X
y

EEEEEENEN

8.48 kN

- 14_.69 kN

ogodoooooboooboooboobooooooo
P = ZDLPV = 2;2038 = 6.78 kN/m
oood
OOp: 0000000000 (KN/m)
O0P: 00O0CDOO0 (kN)
O0L: 0000000 (m
oo
N=1/20p0L =P =8.48 kN
aoood
x=2/30L=2/3x2.500=1.667 m




c.ugood

gboooboobooooabdaod
0000000000 g = 54.10 kN/m
0000000000 g = 45.58 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.500 m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kﬁﬁmL:wﬁsmmz

0ooo
Q=1/20(q + g)OL =1/ 2x (45.58 + 52.68)x 2.500 = 122.83 kN

0000 (0O0000000)

_ G +20¢ L _ 52.68 + 2x 45.58  2.500

= Tg+q 37 52.68 +45.58 3 - 1.220m
1.457 ‘0-043
1.500 1.500

d.0o0oooo
gbooooobgoooodn

0o god goog (0oooo

Vi(kN) xi(m) Vilxi (kNOm)
ad 112.85 1.250 141.06
ad 8.48 1.667 14.14
goooooo 0.00 0.000 0.00
gooo -122.83 1.220 -149.85
agooo -1.50 5.35

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

e.00000
0D000000000000000000000000000000000
0000000000000000M =3 (Vilx) = 5.35 kNOn
0(@OO0O000000)
0000000000000000M = 8.33 kNOn
MO WOOO
OM=M= 5.35 kN



5-3-2 00000

000 D16 ctc 250 OO OOOO

gboooodobgoodM

5350000 NOmm

00o00o00o0oooodb = 1000 mm
gooooooooodnp = 400 mm
0o000o0o0o0oooodds= 150 mm
0o000o0o0o0ooodd = 250 mm
go0oooooooddAs = 794.4 mn?
gooooboooooooooooox = 66 mm
0s = 29.5 N/mm?
oc = 0.7 N/mm
oo oo gooo goooo oo
goooooo N/mm? 29.5 160.0 oK
goooooooooooo N/mm? 0.7 8.0 oK




5-4 004d0O0ooodn
5-4-1 0O0O40od

a.ggood
1) 0o00oooo

gbooobodooobodobooobdaooobaod

2) 000oood

dboooboobooboooboooobooodaooood

3) oooo
O0Ox0O0 =00 oooo | ooooo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 24.50 1.250 30.63
oooo 4.750x 18.60 = 88.35 1.250 110.44
oooo O 112.85 141.07
oooo

x=ZWOx) / ZW

= 141.07/ 112.85= 1.250 m




b.0DO
uboooodoboooodgoooodn

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & 15.0 °
0000000000006 = tan'OKs = 11.310 °

cos’(@ -6 -a)

i 0 )si -B -6
cosB cos’a cos(a +0 +3 )[1+ i;ggg :9 zzlg((:;ps(g B g T

= 0.452
0000(-B-6)<0000sin(e-p-6)=0000

gooooooooo

pr = qOK = 3.43x 0.452 = 1.55 kN/m?
gooooooooo

p2 = KOy sOH + p = 0.452x 18.60x 2.300 + 1.55 = 20.89 kN/m
gad

P=1/20(:+p)OH =17 2x (1.55 + 20.89)x 2.300 = 25.81 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + &) = 25.81x cos(0.0 + 15.0) = 24.93 kN
oooo

Py = POsin(a + 6 ) = 25.81x sin(0.0 + 15.0) = 6.68 kN
oooo

+ X +

ox R0 < HA N 23 <o
X - HOtano = 3.000 - 0.819x tan(0.0° ) = 3.000 m
Yo + Ho = 0.000 + 0.819 = 0.819 m

X
y

EEEEEENEN

6.68 kN

\ 24_.93 kN

00000000000000000000000000
_ 20P _ 2x6.68
PP= L T 20500
oooo
O0p: 0000000000 (kKNV/m)
O0P: 00O0ODOO0 (kN)
O0OL: 0000000 (m)
ooo
N=1/20p0OL =P = 6.68 kN
oooo
x=2/30L=2/3x2.500=1.667m

= 5.34 kN/m



c.ugood

gboooboobooooabdaod
0000000000 g = 81.75 kN/m
0000000000 g = 16.72 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.500 m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kﬁﬁmL:mylmmz

0ooo
Q=1720(q+ g)0L =17 2x (16.72 + 70.91)x 2.500 = 109.54 kN

0000 (COO0O00O000)

_ G+20G L _ 70.91 +2x16.72  2.500

= Tg+tq 37 70.91 + 16.72 3 -0.9%2m
1.170 ‘ 0.330
1.500 1.500
81_75ﬂ/ﬁ/ﬁ/ﬁfﬁfJ/JL,L/L,A/A16_72
d.000O0DoO
ogodooooooooood
0o oo oooad ogoooo
Vi(kN) xi(m) Vilxi (kNOm)
oo 112.85 1.250 141.06
oo 6.68 1.667 11.14
ogoooooa 0.00 0.000 0.00
oooad -109.54 0.992 -108.66
oooad 9.99 43.54

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

e.JOOOnd
doooooooooooooodooooooooooooooooono
000000000 00D00000M =Y (Vilxi)) = 43.54 kNOm
o@ooooooog)
000D0O000oooooooOOM = 17.42 kNOm
M < MO OO
OM =M = 17.42 kNOm



5-4-2 00000

000 D16 ctc 250 OO OOOO

gboooodobgoodM

17420000 NOmm

00o00o00o0oooodb = 1000 mm
gooooooooodnp = 400 mm
0o000o0o0o0oooodds= 150 mm
0o000o0o0o0ooodd = 250 mm
go0oooooooddAs = 794.4 mn?
gooooboooooooooooox = 66 mm
Os = 96.2 N/mm?
o c = 2.3 N/mm
oo oo gooo goooo oo
goooooo N/mm? 96.2 300.0 oK
goooooooooooo N/mm? 2.3 12.0 oK




6 D00O0000oooOooobocooboooo
000000 - 000000000000.200 m
gbooobodobooooobdoood moodaboaod

6-1 00000000
6-1-1 OO00000

Oo0ooooo0oooo00ooob0ooobooooooooooooooOoooooOooooooooooo

a.ggood
1) 0o00oooo

gboooooogoo
0000000 y =24.50 kN/m* OO0 W=y OVi

0o goooo ad agooo goooo
Vi(m®) Wi (kN) xi(m) WilIxi (KNOm)
1 2.300x 0.400 = 0.920 22.54 1.150 25.92
> g 0.920 22.54 25.92
gooo

X=IWOx) /W= 2592/ 2254= 1.150m

2) 000oood
0oO0o00m0b2.000 m

uboooodoooodn

0o gooooo gooo goooo
Vi(m®) xi(m) Vilx; (KNOm)
1 2.300x 1.900 = 4.370 1.150 5.03
2 O 4.370 5.03
gooo

x=3MOx)/=Vi= 503/ 4.37= 1.150m



3 000oODOoOooooo
0oO0o00m02.000 m

uboooodoboooodgoooodn

0o goooo agooo goooo
Vi(m) xi(m) Vilxi (KNOm)
1 2.300x 1.600 = 3.680 1.150 4.23
b2 g 3.680 4.23
gooo
x=SWOx)/SVi= 423/ 3.68= 1.150m

4 000000ooo
uboooboobobooobgoooboooobuooobdaooooan

Va=Vi-\2
xs = (Vildxe - VeOx) / Vs
gogo

Vi,Vo, Vs 1 0000000000000 O0000O (™)
X,X,xs 1 0000000000 O0000CO000 (m

ooooooooo
od oooo
V(m®) x(m)
oooo 4.370 1.150
oooo 3.680 1.150
oooo 0.690 1.150




5) 00000

O0Ox0O0 =00 oooo | ooooo

VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)

od O 22.54 1.150 25.92

o000 oooo 0.750x 18.60 = 12.83 1.150 14.75

o000 oooo 4.000x 19.60 = 72.13 1.150 82.95

oooo O 107.50 123.62
oooo

X=X WOx) /W= 123.62/ 107.50 = 1.150 m

b.0D0O
000000000 H = 0.400 m
oooooooo0d H = 2.000 m

000000000 pe=y.WOH = 9.80x 0.400 =
000000000 po=y.OH = 9.80x 2.000 =

ooooooood B = 3.000 m
uboooboobgooobaoooban
oooooooog L = 2.300 m

3.92 kN/m?
19.60 kN/n?

000000000ps = pr - pl—é@mzlss kN/m?

aog

U=1/20(p + p)0L = 1/2x (19.60 + 7.58)x 2.300 = 31.26 kN

gbooobodaod

x= Pt 20p o L _ 7.58 + 2x 19.60  2.300

p+tp D3 7.58 + 19.60

=1.320m




c.un
gbooobooooooabodaod

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf

gooboooooboog e = 30.0°
ooopoooooogoog B = 0.0 °
0oooooooooooo & = 30.0°

2
K = cos’(p -a )

sin(o +d )sin(o -B )

cos'a cos(a +8 )[1+ | cos(a +8 ycos(a By ¥

= 0.297
goooooooo Ha = 0.300 m
goooooooo Ho = 2.000 m

gooooooooo
pr = qOK = 3.43x 0.297 = 1.02 kN/m?
goooooo
pe = KOy sOHa + pr = 0.297x 18.60x 0.300 + 1.02 = 2.68 kN/m
gooooooooo
pp=KOW ¢t -y wOH + p
= 0.297x (19.60 - 9.80)x 2.000 + 2.68 = 8.50 kN/n?

0ooooo0oo
Pr=1/20(p + p)OH = 1 /7 2x (1.02 + 2.68)x 0.300 = 0.56 kN
00000000
Po=1/20(:+ p)OH = 1 /7 2x (2.68 + 8.50)x 2.000 = 11.18 kN
0oo

P =P+ P.=0.56+11.18 = 11.74 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + &) = 11.74x cos(0.0 + 30.0) = 10.17 kN
oooo

Py = POsin(a + 6 ) = 11.74x sin(0.0 + 30.0) = 5.87 kN
oooo

M= P (2Rt Pty o 1 19 kT

P+ p2 3
_ 20p2 + ps — Hy _
M = P00 ( o+ ps O 3) = 9.24 kNOm
Ho = Mo+ M _ 1.10 + 9.24 _ 0.888 m

P. + P2 0.56 + 11.18
X = X - HOtana = 3.000 - 0.888x tan(0.0° ) = 3.000 m
Yy =VYe+ H =0.000 + 0.888 = 0.838 m

EEEEEEEREN

5.87 kN

e 10.17 kN

00000000000000000000000000
po= 2P = Z 28T < 5 10 kv
0Dooo
O0p: 0000000000 (KW/m)
O0R: 0000000 (k)
00L: 0000000 (W)
000
N=1720p0L =P =5.87 kN
0ooo
x=2/30L=2/3x2.300=15%8n




d.0o0o0

gboooboobooooabdaod
0000000000 g = 59.13 kN/m
0000000000 @ = 17.95 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.300m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kﬁﬁmL:wﬁzmmz

0ooo
Q=1720(q+ g)OL =17 2x (17.95 + 49.52)x 2.300 = 77.59 kN

0000 (COO0O00O000)

_ Gt 20 L _ 49.52 + 2x 17.95  2.300

T g tq 37 49.52 + 17.95 3 =-0.971m
1.233 ‘ 0.267
1.500 1.500

59.13 Wl?.gs

eJOooogg
goooon bbobooboooo
0o god goog (0oooo
Vi(kN) xi(m) Vilxi (kNOm)
ad 107.50 1.150 123.63
ggd -31.26 1.320 -41.26
ad 5.87 1.533 9.00
goooooo 0.00 0.000 0.00
gooo -77.59 0.971 -75.34
agooo 4.52 16.03

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

f.00000
00000S =5 (Vi) = 4.52 kN
0(@OO0O000000)



6-1-2 00000
a.ugoobooooodn

ubooobodooobodaood = 0.200 m
ubooobodooobdaoods = 1000 mm
ubooobodooobdoodH = 400 mm
oooooooooooooas = 4520 N

ubooobodooobdaoodM = 16030000 NOmm

b.0DODOOOODOO

T.= S 4520
"7 pOd T 1000x 250

0ooo

O0Ob: DOOO ( = 1000 mm)

000d: 000000 (= 250 mm)

0D00s: 000000000000000000000 (N)
000 S =S-M/dJtand

0D00s: 00000000000 (N)

OD0OM: 00000000000000 (Ndnm)

00 6 : 00000O00O00O0O00O0 C)

= 0.02 N/mm?

c.uboounooooonogood

a =20 @/ d <1.0)

a =3-a/d (.00 a/d <2.0)
a =1.0 (.00 a/ d)
oooo

0 a: J00O000DOOoO000oooOOoooooow20000040ao

OO0 (= 2500 - 400 / 2 = 2300 mm)

0 d: 0O0DO0OOO0DOOO (=250 mm)

oood

Oa / do
o}

2300 / 250 = 9.20
1.000

d.000000000
Tn=0.02 Nm? < a0t a=0.39 N/m?0 00K



6-2 00000000
6-2-1 OO0O000

a.ggood
1) 0o00oooo

gbooobodooobodobooobdaooobaod

2) 000oood
dboooboobooboooboooobooodaooood

3 000ODOOooooO
0O00001.400 m

uboooodoboooodgoooodn

0o ooooo ooood ooooo
Vi(m®) xi(m) Vilx; (KNOm)
1 2.300x 1.000 = 2.300 1.150 2.65
2z O 2.300 2.65
goog
x=SWOx)/SVi= 265/ 2.30= 1.150m

4 000000ooo
uboooboobobooobgoooboooobuooobdaooooan

Vs =Vi - V2
xs = (Vildxe - VeOx) / Vs
gogo

Vi,Vo,Vs - 000000000 O0000000O00 ()
x,X,xs 1 0000000000 O0000CO000 (m

ooooooooo
od oooo
V(m®) x(m)
oooo 4.370 1.150
oooo 2.300 1.150
oooo 2.070 1.150




5) 00000

O0Ox0O0 =00 oooo | ooooo

VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)

od O 22.54 1.150 25.92

o000 oooo 2.250x 18.60 = 38.50 1.150 44.28

o000 oooo 2.500x 19.60 = 45.08 1.150 51.84

oooo O 106.12 122.04
oooo

X=X WOx) /W= 122.04 / 106.12 = 1.150 m

b.0D0O
000000000 H = 0.400 m
o0o00o0o0o000d H = 1.400 m

000000000 pe=y.WOH = 9.80x 0.400 =
000000000 po=y.OH = 9.80x 1.400 =

ooooooood B = 3.000 m
uboooboobgooobaoooban
oooooooog L = 2.300 m

3.92 kN/m?
13.72 kN/n?

000000000ps = pr - pl—é@m:fs.m kN/m?

aog

U=1/20 (@ + p)0L = 1/2x (13.72 + 6.21)x 2.300 = 22.92 kN

gbooobodaod

x= Pt 20p - L _ 6.21 + 2x 13.72  2.300

ps + p: 3 7 6.21 +13.72

=1.294 m




c.un
uboooodoboooodgoooodn

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & 15.0 °
0000000000006 = tan'OKs = 11.310 °

cos’(@ -6 -a)

sin(o +6 )sin(p -B -6)
cosB cos’a cos(a +6 +d )[1+ cos(a +8 +5 )cos(a B )

= 0.452
0000(-B-6)<0000sin(e-p-6)=0000

0000000000006 "= tan'UKe" = 15.642 °

cos’(@ -6 "-a )

]2

K™ =

. . sin(e +5 )sin(p -B -6 *)
cos® "cosa cos(a +0 "+0 )[1+ cos(a +8 "+5 )cos(a -B )

= 0.538
0000(@-B-6")<0000sin(@-B-6") =0000

goooooodn Ha
gboooooodn Ho

0.900 m
1.400 m

gooooooooo

pr = qOK = 3.43x 0.452 = 1.55 kN/m?
gooooooon

pz = KOy sOHa + pr = 0.452x 18.60x 0.900 + 1.55 = 9.12 kN/n?
gooooooon

ps = K*O(q + y sOH) = 0.538x (3.43 + 18.60x 0.900) = 10.85 KN/n?
gooooooooo

pe =K'O( ¢t -y wOH + ps

= 0.538x (19.60 - 9.80)x 1.400 + 10.85 = 18.23 kN/n?

0ooooo0oo

Pr=1/20(n + p)OH = 1 /7 2x (1.55 + 9.12)x 0.900 = 4.80 kN
00000000

Po=1/20(m + p)OH = 1 7 2x (10.85 + 18.23)x 1.400 = 20.36 kN
0oo

P =Pi+P=4.80 + 20.36 = 25.16 kN

]2



gbooobodoboooodobooobodobooobodbooobdaooooan

gooo

Pn = POcos(a + &) = 25.16x% cos(0.0 + 15.0) = 24.30 kN
gooo

Py = POsin(a + 6 ) = 25.16x sin(0.0 + 15.0) = 6.51 kN
gooo

M= P (2Rt Pty -8 37 kam

P+ p2 3
Mo = PO (%‘%@D ) = 13.05 kNOm
Ho = Mo+ Mo _ 8.37 + 13.05 - 0.851 m

Pr + P2 4.80 + 20.36
X = X% - HOtana = 3.000 - 0.851x tan(0.0° ) = 3.000 m
Yy = Yo+ H =0.000 + 0.851 = 0.851 m

EEEEEEEREN

6.51 kN

e 24 _.30 kN

00000000000000000000000000
_ 20P, _ 2x6.51
P= L T 22300
oooo
O0p: 0000000000 (kKNV/m)
O0P: 00O0ODOO0 (kN)
O0OL: 0000000 (m)
ooo
N=1/20p0OL =P = 6.51 kN
oooo
x=2/30L=2/3x2.300=1.53m

= 5.66 kN/m



d.0o0o0

gboooboobooooabdaod
0000000000 g = 81.67 kN/m
0000000000 g= 0.71 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.300m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kiﬁmszjsmmz

0ooo
Q=1/20(q+ g)OL =1/ 2x (0.71 + 62.78)x 2.300 = 73.01 kN

0000 (0O0000000)

_ @+t20G L _ 62.78 + 2x 0.71  2.300

= Tg+q 37 62.78+0.71 3 - 0.75m
1-009‘ 0.491
1.500 1.500
81.67W0_71

eJOooogg
goooon bbobooboooo
0o god goog (0oooo
Vi(kN) xi(m) Vilxi (kNOm)
ad 106.12 1.150 122.04
ggd -22.92 1.294 -29.66
ad 6.51 1.533 9.98
goooooo 0.00 0.000 0.00
gooo -73.01 0.775 -56.58
agooo 16.70 45.78

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

f.00000
00000S =5 (Vi) = 16.70 kN
0(@OO0O000000)



6-2-2 00000
a.ugoobooooodn

ubooobodooobodaood = 0.200 m
ubooobodooobdaoods = 1000 mm
ubooobodooobdoodH = 400 mm
oooooooooooooas = 16700 N

ooo0ooooboooooDoosm = 45780000 NOmm

b.0DODOOOODOO

- S _ 16700
"7 bOd T 1000x 250

0ooo

O0Ob: DOOO ( = 1000 mm)

000d: 000000 (= 250 mm)

0D00s: 000000000000000000000 (N)
000 S =S-M/dJtand

0D00s: 00000000000 (N)

OD0OM: 00000000000000 (Ndnm)

00 6 : 00000O00O00O0O00O0 C)

= 0.07 N/mm?

c.uboounooooonogood

a =20 @/ d <1.0)

a =3-a/d (.00 a/d <2.0)
a =1.0 (.00 a/ d)
oooo

0 a: J00O000DOOoO000oooOOoooooow20000040ao

OO0 (= 2500 - 400 / 2 = 2300 mm)

0 d: 0O0DO0OOO0DOOO (=250 mm)

oood

Oa / do
o}

2300 / 250 = 9.20
1.000

d.000000000
Tn=0.07 N/m® < a OT a = 0.58 N/mm?0 O OK



6-3 00000000
6-3-1 OO0O000

a.ggood
1) 0o00oooo

gbooobodooobodobooobdaooobaod

2) 000oood

dboooboobooboooboooobooodaooood

3) oooo
O0Ox0O0 =00 oooo | ooooo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 22.54 1.150 25.92
oooo 4.750x 18.60 = 81.28 1.150 93.47
oooo O 103.82 119.39
oooo

x=ZWOx) / ZW

= 119.39 / 103.82 = 1.150 m




b.0DO
gbooobooooooabodaod

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & = 30.0°

cos’(@ -a )

- 5 Vsin(o -
cos’a cos(a +6 )[1+ i;ggg :6 ;iézgg -E ; ¥

= 0.297

gooooooooo
pr = qOK = 3.43x 0.297 = 1.02 kN/m?
gooooooooo
p2 = KOy sOH + p = 0.297x 18.60x 2.300 + 1.02 = 13.73 kN/m
gad
P=1/20(:+p)OH=172x (1.02 + 13.73)x 2.300 = 16.96 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + &) = 16.96x cos(0.0 + 30.0) = 14.69 kN
oooo

Py = POsin(a + 6 ) = 16.96x sin(0.0 + 30.0) = 8.48 kN
oooo

_20pi 4 H . 2x1.02 +13.73 2.300 _
b= "0 pm U3 7 102+13.73 < 3 -0.80m

X - HOtano = 3.000 - 0.820x tan(0.0° ) = 3.000 m
Yo + Ho = 0.000 + 0.820 = 0.820 m

X
y

EEEEEENEN

8.48 kN

- 14_.69 kN

00000000000000000000000000
po= 2P = 288 = 7 57 v
0Dooo
O0p: 0000000000 (KN/m)
O0R: 0000000 (k)
00L: 0000000 (W)

000
N=1720p0L =P =8.48 kN

0ooo
x=2/30L=2/3x2.300=15%8nm




c.ugood

gboooboobooooabdaod
0000000000 g = 54.10 kN/m
0000000000 g = 45.58 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.300m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kiﬁmszilmmz

0ooo
Q=1720(q+ g)0L =17 2x (45.58 + 52.11)x 2.300 = 112.34 kN
0000 (COO0O00O000)

_ g+ 200G L _ 52.11 + 2x 45.58 _ 2.300 _
= Tg+q 37 5211+4558 < 3 - Ll2am
1.457 ‘ 0.043
1.500 1.500
d.000000
000000 0000000
. 000 | 0000 |00000
Vi(kN) xi(m) Vilxi (kNOm)
oo 103.82 1.150 | 119.39
oo 8.48 1.533 13.00
0000000 0.00 0.000 0.00
0ooo 112.34 1124 | -126.27
0ooo 20.04 6.12

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

e.00000
00000S =5 (Vi) = -0.04 kN
0(@OO0O000000)



6-3-2 O0O000
a.ugoobooooodn

ubooobodooobodaood = 0.200 m
ubooobodooobdaoods = 1000 mm
ubooobodooobdoodH = 400 mm
oooooooooooooas = -40 N
ubooobodooobdaoodM = 6120000 NCmm

b.0DODOOOODOO

_ S 40 _ 2
Tr= bod - 1000x 250 - 0-00 N/mm

0ooo

O0Ob: DOOO ( = 1000 mm)

000d: 000000 (= 250 mm)

0D00s: 000000000000000000000 (N)
000 S =S-M/dJtand

0D00s: 00000000000 (N)

OD0OM: 00000000000000 (Ndnm)

00 6 : 00000O00O00O0O00O0 C)

c.uboounooooonogood

a =20 @/ d <1.0)

a =3-a/d (.00 a/d <2.0)
a =1.0 (.00 a/ d)
oooo

0 a: J00O000DOOoO000oooOOoooooow20000040ao

OO0 (= 2500 - 400 / 2 = 2300 mm)

0 d: 0O0DO0OOO0DOOO (=250 mm)

oood

Oa / do
o}

2300 / 250 = 9.20
1.000

d.000000000
Tn=0.00 N/m® < a OT a = 0.39 N/mn?0 O OK



6-4 D0OOO0O0O0O0O0
6-4-1 OO0O00O0

a.ggood
1) 0o00oooo

gbooobodooobodobooobdaooobaod

2) 000oood

dboooboobooboooboooobooodaooood

3) oooo
O0Ox0O0 =00 oooo | ooooo
VmH)Oy (kN/m*)0OWCKN) x(m) WOx(KNOm)
od O 22.54 1.150 25.92
oooo 4.750x 18.60 = 81.28 1.150 93.47
oooo O 103.82 119.39
oooo

x=ZWOx) / ZW

= 119.39 / 103.82 = 1.150 m




b.0DO
uboooodoboooodgoooodn

0000000000000 x= 3.000 m
0@O0000000)I000 y= 0.000 m
0000000000000 H= 2.300m
0000000000000 a= 0.0°
0000000000000 vy« 18.60 kN/mf
0000000000000 ¢ = 30.0°
0000000000000 B= 0.0°
0000000000000 & 15.0 °
0000000000006 = tan'OKs = 11.310 °

cos’(@ -6 -a)

i 0 )si -B -6
cosB cos’a cos(a +0 +3 )[1+ i;ggg :9 zzlg((:;ps(g B g T

= 0.452
0000(-B-6)<0000sin(e-p-6)=0000

gooooooooo

pr = qOK = 3.43x 0.452 = 1.55 kN/m?
gooooooooo

p2 = KOy sOH + p = 0.452x 18.60x 2.300 + 1.55 = 20.89 kN/m
gad

P=1/20(:+p)OH =17 2x (1.55 + 20.89)x 2.300 = 25.81 kN



gbooobodoboooodobooobodobooobodbooobdaooooan

oooo

Pn = POcos(a + &) = 25.81x cos(0.0 + 15.0) = 24.93 kN
oooo

Py = POsin(a + 6 ) = 25.81x sin(0.0 + 15.0) = 6.68 kN
oooo

+ X +

ox R0 < HA N 23 <o
X - HOtano = 3.000 - 0.819x tan(0.0° ) = 3.000 m
Yo + Ho = 0.000 + 0.819 = 0.819 m

X
y

EEEEEENEN

6.68 kN

\ 24_.93 kN

00000000000000000000000000
_ 20P _ 2x6.68
P= L T 22300
oooo
O0p: 0000000000 (kKNV/m)
O0P: 00O0ODOO0 (kN)
O0OL: 0000000 (m)
ooo
N=1/20p0OL =P = 6.68 kN
oooo
x=2/30L=2/3x2.300=1.53m

= 5.81 kN/m



c.ugood

gboooboobooooabdaod
0000000000 g = 81.75 kN/m
0000000000 g = 16.72 kN/m
ooooooooonO B = 3.000 m
gbooobooboooooboooobaod
ooooooooono L = 2.300m
ubooobodoooobaod

DDDDDDDDDm:qﬂ-kﬁﬁmszﬁsmmz

0ooo
Q=1/20(q + g)OL =1/ 2x (16.72 + 66.58)x 2.300 = 95.80 kN
0000 (0O0000000)

_ g+ 200 L _ 66.58 + 2x 16.72 _ 2.300 _
= Tg+q 37 66.58+16.72 < 3 - 0.90m
1.170 ‘ 0.330
1.500 1.500
81.75 W 16.72
d.O0O0O0Ooag
oooood ououodo
0o ooo ooood ooooo
Vi(kN) xi(m) Vilxi (kNOm)
oo 103.82 1.150 119.39
oo 6.68 1.533 10.24
o0ooooao 0.00 0.000 0.00
ooood -95.80 0.921 -88.23
ooood 14.70 41.40

O0000OxO00000000000 (00000000 +)
dbooodydooobaooooodn

e.00000
00000S =5 (Vi) = 14.70 kN
0(@OO0O000000)



6-4-2 00000
a.ugoobooooodn

ubooobodooobodaood = 0.200 m
ubooobodooobdaoods = 1000 mm
ubooobodooobdoodH = 400 mm
oooooooooooooas = 14700 N

oo0ooooobooooDOsm = 41400000 NOmm

b.0DODOOOODOO

T w= S»_ 14700
"7 bOd T 1000x 250

0ooo

O0Ob: DOOO ( = 1000 mm)

000d: 000000 (= 250 mm)

0D00s: 000000000000000000000 (N)
000 S =S-M/dJtand

0D00s: 00000000000 (N)

OD0OM: 00000000000000 (Ndnm)

00 6 : 00000O00O00O0O00O0 C)

= 0.06 N/mm?

c.uboounooooonogood

a =20 @/ d <1.0)

a =3-a/d (.00 a/d <2.0)
a =1.0 (.00 a/ d)
oooo

0 a: J00O000DOOoO000oooOOoooooow20000040ao

OO0 (= 2500 - 400 / 2 = 2300 mm)

0 d: 0O0DO0OOO0DOOO (=250 mm)

oood

Oa / do
o}

2300 / 250 = 9.20
1.000

d.000000000
Tn=0.06 N/m® < aOT1 2 = 0.58 N/mm?0 O OK



6-5 000000000

6-5-1 OO00O000O0000000

oo ooooooo ooo
ooooo ooooo ooooo ooooo oo
M(kNOm) Oc O Os Osa
oooo@o)yo 13.20 1.7 < 8.0 72.9 < 160.0 0K
oooo@oo) 19.21 2.5< 12.0 106.1 < 300.0 0K
oooo@o)yo 5.35 0.7< 8.0 29.5 < 160.0 0K
oooo@oo) 17.42 2.3< 12.0 96.2 < 300.0 0K
6-5-2 OO0O00O0O0O0OO0O0O0
oood ooooooo
ooooo oooooo oo
S(kN) T Ta
oooo@o)yo 4.52 0.02 < 0.39 0K
oooo@oo) 16.70 0.07 < 0.58 0K
oooo@o)yo 0.04 0.00 < 0.39 0K
oooo@oo) 14.70 0.06 < 0.58 0K




